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QUESTION 1

Which feature of vSphere networking restricts the inbound and outbound network bandwidth of a group of virtual
machines? 

A. Differentiated Services Code Point 

B. Port Mirroring 

C. NetFlow 

D. Traffic Shaping 

Correct Answer: C 

 

QUESTION 2

Which two features are reasons for administrators to utilize VMware vCenter Server in virtualized environments?
(Choose two.) 

A. vCenter Server is the only means to access a ESXi host. 

B. vCenter Server provides drivers to interface with third-party devices. 

C. vCenter Server enables administrators to pool and manage the resources of multiple hosts. 

D. vCenter Server acts as a single point of management for VMware ESXi hosts connected in a network. 

Correct Answer: CD 

 

QUESTION 3

Which solution monitors an organizations infrastructure for efficiency and performance across both the virtual and
physical infrastructure . 

A. V realize operations manager 

B. V realize automation 

C. Horizon (with view) 

D. V cloud director 

Correct Answer: B 

 

QUESTION 4

Which two are valid descriptions of how Storage DRS is used in a vSphere implementation? (Choose two.) 
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A. It reclaims overprovisioned capacity to increase resource utilization. 

B. It keeps workloads on storage devices more evenly balanced 

C. it monitors the storage habits of virtual machines. 

D. it allows you to set shares on VMFS datastores to manage congestion 

Correct Answer: BC 

 

QUESTION 5

What is the option to increase CPU resources for a virtual machine (VM)? 

A. decreases the CPU Share value on the VM. 

B. Move the VM into a different folder 

C. vMotion the VM to an ESXi host with greater CPU capacity. 

D. Add a vCPU to the VM using hot add where supported 

Correct Answer: A 

 

QUESTION 6

Which tab in the vSphere Web Client allows you to view the state of CPU and memory components for an ESXi Host? 

A. Hardware Status 

B. Configuration Status 

C. Cluster Status 

D. Resource Allocation Status 

Correct Answer: A 

 

QUESTION 7

Which two statements describe the features of a cluster managed by vCenter Server? (Choose two) 

A. A Cluster is a package of multiple interoperating virtual machines that can be distributed in OVF format. 

B. Host Resources become part of the cluster\\'s resources. 

C. A cluster consists of multiple networked ESXi hosts. 

D. Clusters require High Availability (HA) or vSphere Distributed Resource Scheduler (DRS) Solutions. 

Correct Answer: BD 
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QUESTION 8

What are two advantages of implementing Data Center Visualization? (Choose two.) 

A. Reduced application licensing costs 

B. Improved Disaster Recovery 

C. Rapid provisioning 

D. Unified application management 

Correct Answer: CD 

 

QUESTION 9

Which VMware product can virtualize user desktops so that the desktops reside as virtual machines in the data center? 

A. VMware Mirage 

B. VMware vRealize Log Insight 

C. VMware Horizon View 

D. VMware Workspace 

Correct Answer: C 

 

QUESTION 10

An operator is searching for all virtual machines with the text SQL in the name and a Guest OS type of Windows Server
2012 Datacenter Edition R2 Which is the minimum search type that can be used to meet this requirement, and what
results will be supplied? 

A. ASimple Search, which will show all results. 

B. AnAdvanced Search, which will show only results that the operator has permissions to view. 

C. AnAdvanced Search, which will show all results. 

D. ASimple Search, which will show only results that the operator has permissions to view. 

Correct Answer: B 

 

QUESTION 11

What an three valid ESXi host slates? (Choose three.) 

A. Maintenance Mode 
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B. Disconnected 

C. Installing 

D. Connected 

E. Transition 

Correct Answer: CDE 

 

QUESTION 12

. In which two situations should data collection level 4 be used for performance monitoring within vcenter server ?
(choose two ). 

A. For short term performance monitoring 

B. For long term performance monitoring 

C. when collecting all available metrics 

D. when collecting the least number of metrics 

Correct Answer: AC 

 

QUESTION 13

What should be done if an administrator wants to use Storage DRS, but prevent it from performing balancing functions
automatically? 

A. Use manual mode in Storage DRS 

B. Use Storage vMotion 

C. Use automatic mode in Storage DRS 

D. Disable Storage DRS 

Correct Answer: A 

 

QUESTION 14

Which two storage virtualization technologies can be used to mitigate the effects of latency during peak load periods?
(Choose two.) 

A. Storage I/O Control 

B. VirtualSAN 

C. Virtual Volumes D. Storage Distributed Resource Scheduler 
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Correct Answer: AD 

 

QUESTION 15

Which two represent challenges that could be met by Data Center Virtualization? (Choose two.) 

A. An organization is reporting that it takes 24 hours to provision new desktops. 

B. An organization is reporting that servers become unavailable for a short time during unplanned downtime. 

C. An organization\\'s server team requires 1-2 hours of downtime for applications when performing planned hardware
maintenance. 

D. An organization\\'s server team requires 5 business days to provision a new server 

Correct Answer: AD 
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